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25Х2=            85Х2=
76Х2=            14Х2= 
38Х2=            42Х2= 
12Х2=            89Х2=
34Х2=            35Х2=
87Х2=            10Х2=
94Х2=            28Х2=
15Х2=            45Х2=
56Х2=           66Х2=
38Х2=           74Х2=
49Х2=           83Х2=
43Х2=           33Х2=
64Х2=           99Х2= 
77Х2=           19Х2=

25Х3=            85Х3=
76Х3=            14Х3= 
38Х3=            42Х3= 
12Х3=            89Х3=
34Х3=            35Х3=
87Х3=            10Х3=
94Х3=            28Х3=
15Х3=            45Х3=
56Х3=           66Х3=
38Х3=           74Х3=
49Х3=           83Х3=
43Х3=           33Х3=
64Х3=           99Х3= 
77Х3=           19Х3=













Задачки про детективов

https://yandex.ru/efir?stream_id=47502401e118e883b2a
2dbe911d23e37




































